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1. An object with a mass of 22 kg moving with a velocity of 5 m/s possesses a kinetic energy
of

5m/sh 9T O AT 22 fohall geg AT arel a& & st Foit giehl
a) 275)

b) 1100J

c) 2750

d) 110J

CALCULATION:

Given that m=22kg,v=5m/s

~KE="%x22 x 52
KE=275J

2. To convert temperature from Celsius to Kelvin scale, you must:

dgATT o AfedTT T Ficdd Thd H dcold & AT, 3Tl ATMRT:
a) Subtract 273 from the given temperature / T 7T auHAT ¥ 273 "erw
b) Multiply the given temperature by 273 / U 1T a9 Fr 273 aom G
c) Add 273 to the given temperature / feT a7 agHAT # 273 A8

d) Divide the given temperature by 273/ f&T 31T T9ART & 273§ FHITST AL

Zero in Celsius scale is equivalent to 273 in Kelvin scale. Therefore, the temperature in
Celsius is converted to Kelvin by adding 273 to the given temperature.
For example, 5°C is equal to 278 K (5 + 273 = 278 K)

Afeaad dAT # T Ffeasd YA & 273 & UK g1 3AfAT, G a0 amoaAe #
273 SiEaY Afcaadd & dI9ATT &) dfedd H 9o AT AT &
3CIEI0T & foIT, 5°C 278 K& SIS § (5 + 273 = 278 K)

Celsius to Kelvin

\““‘

K=°C+ 273.15
] 30°C > K
] K =°C+273.15 no degree
‘ K =30+ 273.15 SYTES
K = 303.15 K or 303 K

3. A convex mirror of focal length f (in air) is immersed in a liquid (i1 = 4/3). The focal length
of the mirror in liquid will be:

f (84T #) TIehd X &1 T 3eiel GUUT Ueh &9 (u=4/3) 3 3T 37 &l &9 & guor
1 PrFE ol g -
a) (4/3)f
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b) (3/4)f
c) (7/3)f
d) f

The focal length of the mirrors does not depend on the refractive index of the medium.
The incident ray angle and angle of reflection will remain the same as long as the immersed
object is not lens. Therefore, the focal length will remain the same as F.

SYUTT Y Blehd gl ATETH & qdcieich W (@8R 7L e &
3 FRROT IO AR RIGceT VT Tq Toh FAW I 19 dh T §5 I&G o
TEl &1 A B g F& AT & gl

4. Which of the following acids is present in Red Ants?
fAeAfaf@d & @ &l a1 3Fa ord Hifeat & Higg giar g2
a) Malic acid/ Afois THAS
b) Oxalic acid/ g TiAs
¢) Formic acid/ ®iffie tfas
d) Tannic acid/¢fas tfas

5. Negative acceleration is in the opposite direction of:
FHUTcHS a0l 9% faid feemr & §:

a) Velocity/ daT

b) Force/del

c) Momentum/ HadT

d) Distance/ E@

The direction of acceleration is determined by the general principle that if an object is
slowing down, the acceleration is in the opposite direction of the motion. Therefore, from
this principle, it becomes clear that when an object is slowing down, the acceleration is in
the opposite direction of velocity. This is a negative acceleration.

caoT 1 e " Riguid ganr fuiRa @ S § & afe 15 avg o oar
W &, dr oot a1fa & faudia fGem & giar g1 3d: 39 Ry ¥ I8 ¥ &
ST & foF ST i aed @ g1 @ @i &, TRt a9 &y faudid fewm 7 gar
g1 Ig TP ThRIcHS a0l gl

6. Which of the following is the last element in Newlands Law of Octaves classification?

fArfafad & @ Fla-ar sred geffasor & ~yelsa f@gw & 3ifaw aca g2
a) Radium/ I3aH
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b) Iron/ lgT
¢) Thorium/ MRIHT
d) Rhodium/ Nfeae

Thorium was the last element in Newland's Law of Octaves. Newland's law of octave is the
first to classify elements in groups with a table with each group having elements with similar
properties. According to Newland's law of octave, the properties of every 8th element will
be the repetition of properties of the 1st element. Newland's law of octave explained the
properties of the element up to calcium. After calcium, this law didn't give the proper
results. That's the reason this law get discarded.

NNIA 7gels & 3¢ & A &1 A dea anl i3 &1 doas &1 Haw
deal Gl # gifiehd Lo arell ggell &, IS0 s THg # GA Ui arel
ded g1 81 70l & odsh & [gH & 38R, Ycdeh 3HTed ded & 0T Ugel ded
& UN AT GRIER gl ~Pols & T & AIH A HTIA ok dcd & IO S
SITEAT FY| HToRH & 9i¢ 39 Id o 3T aRome a8 Rul a8 Rt § &
S FIefel H WIRST HT &I AT &

Newlands’ Octaves

Li Be B C N @)

F Na Mg Al Si P S
Cl K Ca Cr Ti Mn Fe
Co, Ni Cu Zn Y In As Se

Br Rb Sr Ce,la Zr Di,Mo Ro,Ru
Pd Ag Cd U Sn Sb I
Te Cs Ba,V Ta W Nb Au
Pt,Ir Os Hg Tl Pb Bi Th

7. Asexual reproduction differs from sexual reproduction in that in asexual reproduction

Hﬁﬁ?ud.ddﬁﬂudddﬂ%m%mﬁmm grar
gl

a) The nuclei of gametes fuse/ «’-Iodd-ldn\i % Hogh ¥l ET Ir! %

b) The gametes are produced in reproduction/ JIFh Holeled H 39+ 819 &

c¢) The new organism are genetically identically to the parent/ JT Siid 3-]'@3% *Y
& AE-Uar & JA T §

d) The offspring shows variations/ AT Aedar @rdr %’

Sexual reproduction: Involves the formation of the male and female gametes, either by the
same individual or by different individuals of the opposite sex. These gametes fuse to form
the zygote which develops to form the new organism. It is an elaborate, complex and slow
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process as compared to asexual reproduction. (E.g. Mammals). The offsprings shows
characteristic of both male and female and shows variation.

Asexual reproduction: The reproduction in which an offspring is produced by a single
parent without the fusion of gametes is called asexual reproduction. (E.g. Amoeba, Hydra)
The off springs is exact replica of their parents and genetically identical.

AT TSetel: THH U & ATFd garT a1 Al foier & 3reer-3reeT SafFaar gann
R 3 AT FaAR H FATOT AfAT &1 F oA Aol JaAeTol qalid § S
@l glht AT Sfia o1 TFATOT e §1 Fg 3elf@ieh Fofelel 1 ool H Toh
faEda, sifeer 3N el gfsham §1 (S Ta=1uml) | Eollel &R 3R AT gt 6
farwar @ & 3R Fesar ard &

AR olelet: ag Tolelel TTTH Teh HAleT 91T JIART & TAheT & Tehel HII-
fOdr ganrT 3cdeet @I &, 3clfEieh Uil Fhgalldr gl (S 37HIET, §1831) Hdlel 3797
ATAT-fAdT 1 e Ffdpfd 3R HFARIE §7 F TA &

8. The reflector of a search light is a:

Y d8¢ T WA 8l §
a) Cylindrical mirror/ Sel=ITehIT EUUT

b) Convex mirror/ 3del gUuT
c) Concave mirror/ 3Tdddl &UuT
d) Plane mirror/ IHdS &uoT

A concave mirror, or converging mirror, has a reflecting surface that is recessed inward
(away from the incident light). Concave mirrors reflect light inward to one focal point. They
are used to focus light. Unlike convex mirrors, concave mirrors show different image types
depending on the distance between the object and the mirror. These mirrors are called
"converging mirrors" because they tend to collect light that falls on them, refocusing parallel
incoming rays toward a focus. This is because the light is reflected at different angles at
different spots on the mirror as the normal to the mirror surface differs at each spot.
Whereas searchlight functions effectively with a type of mirror that would converge the
light at a particular point. Thus, to fulfil this function, concave mirrors are best suited for the
searchlight.

ader gUoT, AT IFHARY gdoT H U Wiade Tdg gldr & S 37X i 3R (Fear
YT & ) Bl ¥ Iracel GUUT YR T Th deg Heg T 3R MR H AR
RIafdd FA &1 SeTohl IYANT TehTl W EIT Figd e & fow frar srar g
3eer guult & A9, rade gdur a&d 3R gUoT & T B gl F YR |

fafeesr ofd yer @ &1 57 ol &1 "31fRTRoT cdor &gr ST § Fife
37 9T YSoT dTel TahT I SHeoT Id &, oIl AR 3TeT dTell Toh0ll &l hichd
$T 3T Higd FT &1 VFT STTAT § i Yhrer 9T U 3cld-37AdT TATAT T
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3TSET-37eT9T 0T X GIaTdd il § &difeh gUor &1 Jdg & v a3 9
T W e g1 §1 Fafeh FIASe Teh bR & SUUT & JTY GHTET &1 I T
AT § ST el @l Teh A9 foig o 3THEROT el §1 36 YR, 30 ST T QO
o & AT Iade U Fese & fov Hed 3G B

OBJECTS IMAGE USAGE
EEeee——
Rear view mirror of vehicles To get a wider view of the
(convex mirror) road
Back side of spoon To get practical knowledge
(Concave mirror) of the concave mirror

Surface of the steel flask

(convex mirror) To get practical knowledge

of the convex mirror

Water surface in the glass
(Convex mirror)

Curved surface of a torch
light
(concave mirror)

To spread light on a wider
surface

9. A body of 4.0 kg is lying at rest. Under the action of a constant force, it gains a speed of 5
m/s. The work done by the force will be

4.0 fopelt T R ARTH F I5T §IT g1 Toh R g ¥ fohar & 7%, T8 5
HICY[HS & A IIed AT | dof GarT R a1 Hry g

a) 50)J
b) 30J
c) 201J
d) 40)

CALCULATION:

It is given that,
Mass (m) = 4.0 kg

Final Velocity (v) = 5 m/s and initial velocity (u) = 0 m/s
According to the work-energy theorem,

= Work done = Change in K.E
= W=AKE

Since initial speed is zero so the initial KE will also be zero.

= Work done (W) = Final KE = 1/2 mv2
= W=1/2x4x 52

= W=2x25
= W=50J
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10. Which of the following serves as a nutritive tissue for the growing embryo?

fFFfaf@d & & i Jed U1 & AT 9Iveh S & & H SR Hl §?

a)
b)
c)
d)

Ovule/ &TaTg
Zygote/ FIHaTST
ovary / 3T
endosperm/ TUSIETH

e Endosperm is a tissue that surrounds the embryo in the seeds of angiosperms and
provides nutrition to it in the form of starch and protein.

e The ovary is a female reproductive organ that produces female gametes and after
fertilization, it develops to become a fruit.

e The ovule is present inside the ovary that develops into female reproductive cells
and after fertilization, it develops into a seed.

e The egg fertilized by sperm is called Zygote.

o UUSUH TH Fdesh § off Ueoraiedsd & sl 7 o1 &l oY TEar & 31 39
T Jar N & T & NYT YT Har 2l

o 3SR TH HACT Folelel 30T § ST AlGl oA YaT HXar & 3R v &
dIC Ig Bl go0 & o [Friad gar gl

o dIS ISR & 3T HAlSG Gl § ST HAGT Folelel HRAB3NT A fahiad
grar ¢ 3R AT & 91 I & &7 F [Qefaa gxar g

o SHIY] aRT FANRIA 318 Y SgIe Hel ST g

Pollinic
tube

Ovule

Pollen

Generative /‘%‘

nuclei

Vegetative
leus

Envelops Envelops\
4

‘("'- \ & 1" -
Endosperm / - \ / ‘g/‘ ‘;‘ ‘i,‘iv‘
\ (/) |
Endosperm -

Embryo <7 Embryo

Monocot Dicot

11. Nodes of Ranvier are microscope gaps found within:

oA1s 3% FATIIN FeAgel e § & ek a1e o &

a) Chondroblasts/ TigleelEcH
b) Gland cells/ T HITARIT

c) Osteoblasts/ 37T EAPREH
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d) Myelinated axons/ HATSfelaics H&ﬂﬁg

The myelinated axons are characterised by a covering of a fatty layer called the myelin
sheath secreted by the Schwann cells. The myelin sheath is non-conducting. Therefore,
small gaps are left between Schwann cells along the entire length of the axons. These gaps
are called Nodes of Ranvier. They allow saltation of the nerve impulse.

ASTAACS 3MeTcl 1 @TeT PIAFIT @RI AMAd AT FAT ATHR Teh TG
W & HTEROT dr A g g1 Afoe #=are IR-FareleT &1 ST, 3raTag &
@ dETs & AT @M HIRAFHT & T B AT BIs Id 81 3 Icqg A
Nodes of Ranvier gT SITdT &1 d dTAeRI 3TAT o THS Hl Hﬂﬂﬁéﬁ%l

myelinated
axon

action
potential

node of \
Ranvi

myelin spread of
sheath depolarization

cell body
(soma)

action
potential

unmyelinated
axon

12. By which of the following processes are metals of high reactivity extracted from purified
molten ore?

et & @ T gfthar carT etr I1fad 3Eh & 3T HAThATATCT arel arqe
fAshrel ST &2
a) Reduction by an appropriate reducing agent/ Teh 39gFd 9 Tolc IRy
39U
b) Roasting/ #aTell

c) Electrolysis/ Selecleilol
d) Calcination/ Shedia2rT

e Metals of high reactivity such as magnesium, calcium, sodium etc. are extracted from
purified molten ore by Electrolysis process. In Electrolysis (Electrolytic reduction)
process, electric current is passed through the molten state of metal ores. In this
process positively charged metal is deposited over the cathode.

e Calcination It is the process in which the ore of the metal is heated to a high
temperature in the absence or limited supply of oxygen. The prominent use of this
process is to remove carbon from limestone through combustion to yield calcium
oxide.

e Roasting It is the process in which the ore is heated to high temperatures in the
presence of excess supply of air or oxygen. It is mostly done for sulphide ores. During
roasting, moisture and non-metallic impurities in the form of volatile gases are
released.

o 3= glafharelerdr arell arqu s AvanfArgs, Hicwas, Qifsad e
sﬁa@ﬁmmm%@ﬁaﬁ@mﬁﬁmmﬁl
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gl A (FolFeIaTsies Sal) Uihar , fdegd Jarg arg 1Tt Hr
faerel g5 39T | gl N1 & 39 Afhar H gafid a1g &S H
IR AT g S

o el TE a6 UihaT & TS a1 & 3%k @l 3iferdiste $r
Jerafeafa ar @A 3mqfd & 3oa aaAe | YRR Sar €1 38 afear
T ST YA HToIH JHFHSS 3cUeel I & [T &gl & AEIH §
AT Ie2 ¥ Fleel [Aehrorstr B

o UTET I g githar § Toae gar ar st 1 31fee 3mqfd @
3fEAfa & 3T & 3T d9AT W I FAar Sar &1 I8 SAeaR
TOWHISS AEDT & ToIT fohar SIrdr 81 1= & alreT arsueiiel 34t & &7 &
o 3N Jrenfeass IREfREr Ao §

44— Graphite anode (+)

Oxygen gas

Oxide crust

Siphonto —p
remove
molten
aluminium

Graphite
cathode (-)

Steel case

Purified aluminium ore Molten
dissolved in the cryolite
molten cryolite

13. When a number of resistors are connected in series in a circuit, the value of current:

9 Th IRIY H Fs gfoRreet Ht Avfihd & ST S1ar §, O ORT &7 AT

a) Decreases/ &H @ STdl g

b) Remains the same/ 34T & &dT &

¢) Increases/ d&drl g

d) Become half/ 3T & ST &
The resistors that are arranged in a series in a circuit are chained together such that they
have a common current flowing through them. Thus, the value of current flowing through

them remains the same because the current flowing through the first resistor must pass
through the second and so forth.

T Hiche H Ueh HWell H AU U 7T YfRIUT  Teh H1Y 38 Re & SioiX
T ST ST g T 3dH Ueh AT URT JaAlied 8ldl &l 30 YR, 3ol ATETH I
8T dTell YRT T AT T8l I8dT & FAifeh Tgo Ufaiel & ATETdT & dga) arel
URT gEX 3R I & AeyA F garRd @ TR
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14. Plants that do not have a differentiated plant body belong to the group .

d Ol o faafea arew R o181 giar 8,9 __ HAg & &Id ol

a)
b)
c)
d)

Phanerogams/ WIaRIITEE
Pteridophyta/ ¢REIwISEr
Bryophyta/ STTRISET
Thallophyta/ SelTdEer

Plants are divided into five groups: Thallophytes, Bryophytes, Pteridophytes,
Gymnosperms and Angiosperms. Thallophyta do not have a well-differentiated body
design and are the simplest of plants.

Bryophyta are often called amphibians of the plant kingdom.

Gymnosperms are flowerless plants that produce cones and seeds. The term
gymnosperm literally means "naked seed," as gymnosperm seeds are not encased
within an ovary.

Pteridophytes include horsetails and ferns. Pteridophytes are used for medicinal
purposes and as soil-binders

Plantae and Animalia are further divided into subdivisions on the basis of increasing
complexity of body organisation.

diet @ 9re Feggt 7 dier R & AAIEseH, SRIBEcH, CREmEeE,
fSeegs 3R ufoags| deliwrser & e 3T R ¥ fFafea e’lR &
f3omet w1gT glar & 3R I ot F 9w W g £

STATRISET &l YT 9IeY SToTd &l 3HITX Hgl Sl gl

fSreireTst g ted dier § S e 3R dier der e 81 fSeeds asg @
Mg 37T § "F9T S, Fifep [SFEad & i 3BT & fiax F87 g
gl

cREwEeH #H giicd 3R Wl enfae g1 cREwsed &1 3uater iweig
Tl & fow 3R Aed-atgst & 7 7 fhar arar §

R HISA &I qodl JATceldl & TUR W Tolie 3R vfAfEar & 3mer 3ufasmen &
anfaa frar = g1
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thallus = green shoot or twig

Thallophyta

Spirogyra are filamentous green
algae found in freshwater

Cladophora and Sea Lettuce (Ulva lactuca)

£ g
a » e\ ‘:r’ "
s
§ Y )
i
Volvox (Colonial Algae) g

Three species of edible seaweed
Ulva, Palmaria and Laminaria (devil's apron)

Common stonewort (Chara vulgaris)

Predominantly aquatic plants | Autotrophic
Simple thread like bodies with non-differentiated root, stem and leaves

15. A 4.0 kg object is moving horizontally with a speed of 5.0m/s. To increase its speed to
10m/s, the amount of net work required to be done on this object is:

Teh 4.0 foham &1 a&q &t €9 & 5.0m/s & O & T T g1 FHDT a1fcd
10m/s T 6T & ToIT, 30 8] W U Sl arel ety SR & A 8

a) 75
b) 150
c) 50
d) 1001

CALCULATION: Given-m =4 kg, u=5m/s,v=10 m/s

Due to horizontal movement, the potential energy remains constant. The work done is due
to change in kinetic energy given by

W =1/2 mv?-1/2 mu?
W=1/2m (v’ -u?)

W =1/2 x 4 x (102~ 5?)
W =2 x (100 - 25)

W =150

1. Element A, B and C occur as Dobereiner’s triads. If the atomic mass of A is 7 and that of C
is 39, what will be the atomic mass of B?

dcd A, B3R CENRBR Fh & & & 90 Sd g1 A A WA HR 78 3R C
I 39, Al BN IRAY] GTATA AT GE?
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a) 20
b) 40
c) 23
d) 12

As per Dobereiner's triads, when element are arranged in the order of increasing atomic
masses, groups of three elements, having similar chemical properties are obtained. The
atomic mass of the middle element of the triad being equal to the arithmetic mean of the
atomic masses of the other two elements. Thus,

(atomic mass of A+ atomic mass of C)/2 = atomic mass of B

7+39/2
46/2=23

Atomic mass of B is 23

S. No. Element Atomic Mass Mean of I and III

1% I.  Lithium 7 .
I. Sodium 23 7+39 o5
III. Potassium 39 2

22 I. Calcium 40
II. Strontium 88 40+137 =88.5
III. Barium 137, <

3% 1. Chlorine 35:5
I Bromine 80 3504127 _ 2105
ML Iodine 127 2

2. Who among the following laid the foundation of chemical science by establishing two
important laws of chemical combination?

fArfaf@d # @ fhas TaRIfas H@3ee & & Agcaqul HIAT Sl FATTEAT
W faae & &g @

a) Joseph L. Proust/ A% T 93¢

b) Antoine L. Lavoisier/ Telell Tel| oAISfAIR
c) Ernest Rutherford/ e TEIHS

d) Democritus/ SHITheT

Antoine Laurent Lavoisier was a French Chemist who developed the two important laws of
chemical combinations and co-authored the modern system for naming chemical
substances. He is known as ‘The Father of Modern Chemistry’
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Ernest Rutherford was a New Zealand born physicist who gave the famous ‘Rutherford
Model of the atom’ which explains that the atom contains very small charges nucleus
(contains most of the mass of atom) and orbited by loss mass electrons.

Democritus was a Greek philosopher and scientist who observed that a cone or a pyramid
has one-third the volume of a cylinder or a prism with the same base and height.

Joseph Louis Proust was a French chemist who gave the law of constant composition.

Tl dile aliforR U HiERl W ¥ Segls Taafas aaier & ar
Hgcaqul Sl @l fafld fohar 3R Tarafas gerdf & sreeor & fav myfas
YUTTeN T Hg-oIWT ThaT| 3¢ '3MYfeh IO [l I SieTeh' gl STl &

e TEIHIS #gaials H Sied sifde faeen 3, [Segia Iffiey '9AT] T TEIhs
FHser fem o, St FaTaT & foh WRAT] H FgT I HAU dTel AHF &l & (RA]
T TR GeTATT BT §) 3R BIfel GeTdATe Saiagial garT IRehAT HI S gl

sAlfshed v Mk grdifde 3R defaeh & fSegll S@m & vs o a1 wh fovfAs
H gHE 3R 3R 38 & 1Y U {elsy A1 T Ved 1 3-dT T 8B
gler &

S of$ I3 Ueh Wi Tl & foegiel HeR Taar &1 forzs fear

3. Which of the following never occur singly in nature?
fAefaf@d & @ @l a1 gpfd & rhet el w7 g 82

a) Inertia/ SIsdr

b) Momentum/ T
c) Forcel/sol

d) Velocity/ @dT

Force: According to Newton, a force can never occur singly in nature. It is the mutual
interaction between the two bodies. It is that external energy which when acts on a body
changes or stories to change the initial state of rest or motion with a uniform velocity of the
body. Newton is the Sl unit of force.

qol: 7Y & AR, HIg ToT H3 o Tpfd & bl FET 87 Teohelll TE & fehrar
& o 9REIRE HGF g1 Fg T8 el ol ¢ Sl W W AR e W R &
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U AT 397 & YT IRMA IT IS hr IRIFS 37GEAT A deodd & fov gRafdd
Al ¥ wgeet g &SI 5T B

4. If the atomic number of Krypton is 36, then its electronic configuration is:

e foheesl &l IRATU] H&AT 36 &, ol SHHI Felaciicieh [deard g

a) 2,8,18,8

b) 2,8,20,6

c) 2,18,16

d) 2,18,8,8
Krypton is a chemical element with symbol Kr and atomic number 36. It belongs to group 18
(noble gas) elements. Its electronic configuration (electrons per shell) 2 (K), 8(L), 18(M), 8(N)
and electronic configuration (electrons per sub-shell) is [Ar] 3d*° 452 4p®.

fohcest T TEEfae dea & g cdieh Kr 3R oA §EAT 3681 IE Heg 18
(3chse ) dedl @ T §1 SHRT Solelioleh e (T Hier & gelarcial) 2
(K), 8(L), 18(M), 8(N) 3R soiarciieieh faeamd (T 3Uhrer H solarcied) [Ar] 3d10 4s2
4pSg|

Electron

Name— Krypton
Atomic Number — 36

Symbol — Kr

Atomic Weight— ~ 83.798

Flectron configuration —15*25°25°35°3°%s 3" %p
www.valenceelectrons.com

Nucleus
Shell

5. The value of universal gravitation constant g was determined by

AEAAAF TEcaredur s g & AT frash qarr feiRa famar arr ar

Antoine L Lavoisier / Teldl Tel STaifolaY
Isaac Newton / 3TTSoieh #3c]

Henry Cavendish / geI hdfser

John Dalton / SiisT 3Teeet

a

)
b)

C

)
d)
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Henry Cavendish formed an experiment, called a Cavendish experiment, was the first
experiment to give an accurate value of Gravitational constant and to measure the force of
gravity between masses. The value of the gravitational constant is 6.674 x 101t m3 kg s2.

gl ShdfSer o Teh YNT S, oI hafSer galeT &gl Sirelm 8, J&carehyor 8
T TEIh AT ol 3R GeTATE & S JEcarehyOT dof &l HIGA dTell Tgoll FATT
7| TEcarehyuT &I T AT 6.674 x 101 m? kgl s 28|

6. Among chemical properties, Mendeleev concentrated on the compounds formed by the
elements with:

A AUl & &, ASNT & dedl c@RT afsd Al T eareT Higd fham:

a) Hydrogen and Oxygen/ gTSsItel 3R e
b) Carbon and Sodium/ &TeeT 3 @fZTH

c) Hydrogen and Sodium/ gT83IeteT 3R AIfsTH
d) Carbon and Hydrogen/ @lesT 3iX gT83IeT

Among chemical properties, Mendeleev concentrated on the compounds formed by the
elements with Hydrogen and Oxygen. The reason why Mendeleev concentrated on the
compounds formed by the elements with Hydrogen and Oxygen is they are highly reactive
and hence formed compounds with almost all the elements. Mendeleev concentrated on
the oxides and hydrides of various elements to study their chemical properties. Dmitri
Mendeleev is known as the father of the Periodic Table.

e it &, ASNT o grsgieled 3R eIl & ATY dedl GaRT ATSA
TP W e Higa fFar| FAeha & grsgere 3R 3iedsle & ATy dedl garT
Ifea AT W eI Higd S FT HROT I8 a9 & 3 3rcafes gfafmareie
g ¥ 3k safav amerer @ acdt & @y AiffE saa 1 Fde S e
TR TOT #T IEATA A F AU Ao deal & 3ferargs 3N §E3ss W
€1l dhigd fhar| fAFr #Aselia &1 3mad aRol & S & &9 H AT AT ¢

7. Which of the following gases is used to prevent food material from getting oxidised?

e AHIA &l JHiFdihd g @ Uohel & fov eaifef@a & & fha 3w &t
3UeT fRAr ST 87

a) Oxygen/ 3TFEIST
b) Nitrogen/ =TSclolel
c) Hydrogen/ gTSglotel
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d) Chlorine/ FaRIeT

Nitrogen gas is used to prevent food material from getting oxidised. The reason why
nitrogen gas in food packaging is, it will displace oxygen in the air (nitrogen doesn't react
with foods or affect the flavour or texture, so they stay fresher longer).

Oxygen is the main reason in the air that causes spoilage.

e FHA &l JHFdhd gl & Uchel & AT ATSIoT I 1 3TN fohar ST
gl e YT 7 aAsciee i gt T SROT I8 & fF I§ ga1 # et &t
farafa &x ¢l (Arsciae @iy gardf & ary ufaferar &g axdr § a1 &g A
JeTae B GHTTAT FE AT &, ST 3 3F gAY d arel Ea &)

gaT & 3iierdioTel TR glel 1 HET HROT &

8. The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called

Jrfaefstr a&q3it & TaRTATGEAT & a1 Tl AT FA AT § AT A Eol H T
Ca) el ST gl

a) Inertia/ SIsdrl
b) force /el

) energy/ FoIT

d) momentum/ I1f

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called inertia.

Velocity is a vector quantity which measures the rate and direction of motion.
Force is a push or pull that tends to change the motion of an object or its direction.

The quantity of motion that an object has is known as momentum.

Jrfaefstr a&3it &1 TR AT # & @el IT FAW 997 F I A Tl
ygfl T Sisca g gl

Q9T Teh dFe ATAT § S M T e 3T e & &A9ar g

Sof Ush Yol A7 TQara & S fohdly a&g 1 aifd a1 3|y feem Y seelel dr ggfr
G g
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fonely @& & a1y o AT &Y ATT & T A ST ST B

9. Which one of the following derives nutrition from plants as a parasite?

faf@ad # & &9 giul & WwReidr & § H 9IN0T 9rod AT 8?2

a) Lice/ S:f\
b) Bryophyllum/ STAIfhereT
¢) Cuscuta/ 3IFEA

d) Malaria parasite/ HFIRIAT Iiar

Cuscuta derives nutrition from plants as a parasite. The organism that lives on or inside

other living organisms, to derive their food are called parasites. All parasitic plants have

modified roots, called haustoria. Parasites may cause harm to the host. Examples of

parasites: Cascuta, Loranthus, Balanophora, Sandalwood tree.

ARG YLGIT & & H Giel d 9I9oT gied A g1 9 Siig S 3T Holldl & IW
T IR @A £, 39T STl UTod el & folT WRoidl gl &l T8 qReidr ey
S HANRT 515 g 8, [oiee §EIRAT &gl AT &1 WRaldl AT I Jeh e

t|§TIT Hehel &1 URATAAT o 3STEIUT: HEphel, AR-UH, STeTaAIpRI, Teel & US|
TYPES OF HETEROTROPHIC NUTRITION

Saprotrophic Parasitic Holozoic
Nutrition Nutrition Nutrition
Feed on dead & decaying Obtains nutrients from The organism feed by
matter. Include bacteria & living organisms. ingesting solid organic
fungi which digest the food The parasite obtains matter which s then

externally before the nutrients nutrients by living on

are absorbed or in the body of the host
Example Example
% Fungi % Cuscuta
% Bread moulds % Tapeworm

10.

digested and absorbed
into their bodlies

Example
Y Human Beings
Y Animals
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9 g HERE difee F g F A S & 9 F=2r 2ar 82
What happens as we go down the group in the periodic table?
T T TEAT §¢ A &
The number of shells increases
X2 GATVTF HTHR FHF g 1T &
Atomic size decreases

x5 T T FH G S §

Valence electrons decreases
, AT FE; U A g

The number of shells decreases

Ve

X

According to Modern Periodic Law, the physical and chemical properties of the elements are
periodic functions of their atomic numbers. When we move down the group, there is an
addition of shell and hence, the atomic size increases down the group. For example, Sodium
(Na) and Lithium (Li) belong to the same group i.e. group 1 Lithium has 3 atomic number
and its configuration is 2 (K), 1(L). While, sodium has 11 atomic number and its configuration
is 2 (K), 8 (L), 1 (M).

3megforen 3MTeret To2ra & 3THR dedl o Hifcren 3R T@TITeIeh 0T 3e7eh TRATY] shiATeh o
3T HoleT 81 & | ST §H HHg H &1 ST §, oY I AT 313 81T & 3N safae, aog #
ATl 3T 3N IRATY] 31TehR TGl ¢ | 3ETeX0T o foIT, ATSTA (Na) 3R ForfdzrsT (L) Toh &1
THE o & 34T T 1 TRas & 3 9RaAT0] shveh 8 3R s@eht fawamer 2 (K), 1 (L) §1 STafeh,
QISTA & 11 TATI] hATh 8 R TR AT 2 (K), 8 (L), 1 (M) B

lonization energy

Electron affinity
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